# GOVERNMENT OF ODISHA



## PANCHAYAT SAMITI NANDAHANDI

## **DETAILED TENDER CALL NOTICE**

OFFICE OF THE PANCHAYAT SAMITI, NANDAHANDI, ODISHA, 764078.

## OFFICE OF THE PANCHAYAT SAMITI, NANDAHANDI

#### TENDER CALL NOTICE NO. 01 / 20-21

(Phone no.:- (06858)-229720/229711, e-mail:- ori-nandahandi@nic.in)

Letter No.: 1217 /2020

Dated:- 16 //12//2020

The Block Development officer, Nandahandi invites sealed tenders in conformity with detailed tender call notice to be drawn up in state P.W.D P-1 contract from the eligible registered contractors of State P.W.D / Irrigation / R.W. / R.W.S.S. and P.H.E.D having valid license from competent authority for civil works. The proof of registration from appropriate authority shall be enclosed along with the Bid. If successful, the bidder who has not registered under State Government, Odisha has to register under the state PWD in appropriate class of eligibility before signing of the agreement.

The bidders may submit bids for the following works:-

SI. No	Name of the work	Amount put to tender (Rs)	EMD to be deposited 1% (Rs)	Cost of tender documents (Non-refundable)	Class of contractor	Time of completion
1	2	3	4	5	6	7
1	Construction of Labour Room at PHC Ekamba of Nandahandi GP	31,00,000.00	31,000.00	6000.00	В&С	05 (Five) Calender months

Date of Tender Paper available online

:- 19.12.2020 to 28.12.2020

Last Date of receipt Tender paper

:- 02.01.2021 (upto 05.00 PM)

Date of opening Tender paper

:- 04.01.2021 (Time 11.30 AM) at Block Office, Nandahandi.

Bid documents consisting of the scheduled of quantities & the set of terms & conditions of contract & other necessary documents can be downloaded from Official website (www.nabarangpur.nic.in).

- > The Cost of tender document specified in column-05, shall be submitted at the time of submission of the tender paper in shape of Banker's cheque/Bank Draft only in favour of Block Development Officer, Nandahandi payable at UGB, Sindhiguda.
- > Tender must accompany with 1 % EMD as mentioned in column-04, in shape of Banker's cheque/ Bank Draft only in favour of Block Development Officer, Nandahandi payable at UGB, Sindhiguda alongwith attested copies of valid and upto date GSTIN clearance certificate, CC / Pan / Tin Certificate, experience certificate of similar nature of works amounting to more than the 30% of the tender amount in a single year in last five (05) year of contractors from competent authority not less than rank of Executive Engineer, without which the Tender will be liable for rejection and on production of original contractor licenses, GSTIN clearance certificate, CC / Pan / Tin / experience certificate against a non-refundable fee towards the cost of the tender documents as mentioned at column-5 in shape of Bank Draft/Banker's cheque only.
- > Tenderers are requested to quote their percentage rate both in words and figures.
- > The Tenderers are required to put their signature on every over writing or any correction made in the tendered rate.
- > The tender filled in figure only but without mentioning in words shall be liable for rejection for which no tender paper cost shall be returned to the tenderers.
- > The Tender schedule alongwith bill of quantities duly filled in and all relevant papers in sealed cover will be received through registered post / speed post only by the undersigned upto 5.00 PM on 02.01.2021 and it will be opened in the Office of the Panchayat Samiti, Nandahandi at 11.30 PM on 04.01.2021 by the undersigned in presence of the tenderers or their authorised representatives who may be present at the time of opening.
- Telegraphic tender will not be accepted. The undersigned will not be held responsible for the postal delay if any for the delivery of the documents or non-receipt of the same in time. However no tender will be received by Fax or by E-mail.
- > Schedule caste and schedule tribe & Physically handicapped tenderers will deposit EMD as 50% of the amount as mentioned in Column-04 and they will produce Caste Certificate, Physically handicapped certificate at the time of submitting tender paper.

(Signature of Contractor)

- ➤ In case of Engineering contractors seeking exemption of EMD of the work, are instructed to produce an affidavit regarding his / her list of works for which he / she has claimed such exemption and being avoided such works, during current financial year- 2020-21.
- > The conditional tender will not be accepted on any circumstance by the authority.
- When the tenderers will quote the rate is less than the Estimated cost put to tender shall have to furnish the exact amount of differential cost (i.e. Estimated cost put to tender minus the quoted amount) as Additional Performance Security(APS) in shape of Demand Draft only in favour of Block Development Officer, Nandahandi payable at UGB, Sindhiguda. Deposit in any other shape except Bank Draft will not be entertained. The Additional Performance Security(APS) will be submit at the time of agreement.

Shortfall of any required documents, drafts an EMD, tender paper is liable for rejection. No Excess tender is invited to the amount put to tender. The authority reserves the right to reject any or all the tenderers without assigning any reason thereof.

Block Development Officer Nandahandi.

Memo No. 2218 /20

Copy submitted to the Collector, Nabarangpur / Project Director, DRDA, Nabarangpur for kind information & necessary action

Copy submitted to D.I.P.R.O., Nabarangpur for information.

Block Development Officer Nandahandi.

Memo No. 2219 /20

Dated. 16 /12/2020

Copy to Press Reporter <u>The Sambad/ The Dharitri</u> for publication and necessary action. Copy to the notice board of this office for wide publication.

Block Development Officer Nandahandi

Memo No. 3220 /20

Dated. 16 /12/2020

Copy forwarded to the Addl. PD (Tech.), DRDA, Nabarangpur for kind information. He is requested to attend the office of the undersigned on 04.01.2021 at 11.30 AM to participate in the tender opening for verification & scrutiny.

Block Development Officer Nandahandi.

Memo No. 2221 /20

Dated. 16 /12/2020

Copy to the Assistant Engineer, NHM, Nabarangpur & Junior Engineer, NHM, Nabarangpur for kind information. He/She is requested to attend the office of the undersigned on 04.01.2021 at 11.30 AM to participate in the tender opening for verification & scrutiny.

Block Development Officer Nandahandi.

Memo No. 2222 /20

Dated. 16 /12/2020

Copy to District Informatics Officer, NIC, Nabarangpur for information and wide publication in the web site from Dt. 19.12.2020 to Dt. 28.12.2020, after that he is requested to delete the same from the website. He shall confirm through a written reply.

Block Development Officer, Nandahandi

(Signature of Contractor)

## CHECKLIST TO BE ENSURED BY THE BIDDER

# NAME OF THE WORK: CONSTRUCTION OF LABOUR ROOM AT PHC EKAMBA OF NANDAHANDI GP

51. No.	Particulars	Whether 1		
140.		Yes	No	Remarks
1	Cost of tender paper in shape of Banker's Cheque/ Bank Draft only (any other shape will not be entertained)			
2	Earnest money deposited (E.M.D) in shape of Banker's Cheque/ Bank Draft only (any other shape will not be entertained)			
3	Copy of Valid Registration Certificate			
4	Copy of Valid upto date GSTIN Clearance Certificate			7 7 7 7
5	Pan Card			
6	No Relation Certificate			
7	Category of tenderers (SC/ST/Engineering Contractor/General) with certificate			2
8	Certificate (5C/ST/Physically Handicapped)			
9	Contractor's Licence certificate			
0	Works Experience Certificate (Similar nature of work)			
1	Information regarding current litigation, debarring/ expelling of the tender or abandonment of the work by the tenderer			
2	Affidavit/ Declaration Certificate			

(Signature of Contractor)

### **TENDER FOR WORK**

I, Sri/Smt	aged about	years S/0, D/0, H/0.:
***************************************	Vill: P.S:	hereby tender for the
execution for the Panchayat Samit	ti, Nandahandi of the work specified in the	underwritten memorandum at
the rates specified therein within a	a period of months/years from th	e date of written work order to
commence and in accordance in a	ll respects with the specifications designs of	drawings and other documents
referred thereof and subject to the	annexed conditions of contract in accordan	ice with such conditions so far
as applicable.		

#### **MEMORANDUM**

(a) Name of the Work

:- Construction of Labour Room at PHC Ekamba

(b) Name of GP

:- Nandahandi

(c) Name of the Scheme

:- PIP Grant 2020-21

(d) Estimated Cost

:-Rs. 31,00,000.00

(e) Approximate Cost put to Tender

:-Rs. 31,00,000.00

(f) Earnest Money to be Deposited (E.M.D.)

@ 1% of Estimated cost

:-Rs. 31,000.00

(g) Cost of Tender Paper

:- Rs. 6,000.00

(h) Class of Contractor

:- " B & C" Class

(i) Percentage to be deducted from bills (This percentage deduction from bills of the

:- Three percent (3%)

Contractor will be credited to the security

Deposit(S.D.) of the contractor)

- (j) Percentage to be deducted from bills as IT (TDS):- Two percent (2%)
- (k) Time required for the work from date of written order to commence

: - 05(Five) Calender Months

SL. NO.	ITEM	QUANTITY		Rate	Unit	Amount
1	2	3	4	5	6	7
1	Earthwork excavation of foundation in hard soil within initial lead & lift including dressing, & levelling the bed etc. all complete	86.70	cum	184.59	per cum	16004.38
2	Sand filling in Foundation & Plinth etc. all complete.	65.58	cum	345.97	per cum	22688.71
3	C.C. (1:3:6) using 40mm size H.G. metal in foundation etc. all complete.	42.46	cum	4490.45	per cum	190664.38
4	R.C.C. M-20 using 20mm and down graded H.G chips etc. all complete	72.01	cum	4998.49	per cum	359916.69
5	Fly Ash brick work of size 23cm x 11cm x 8cm having crushing strength not less than 75 kg/cm <sup>2</sup> in CM(1:6) in S/S with all leads and royality etc comp.	73.39	cum	4205.22	per cum	308608.24
6	Rigid smooth centring, shuttering etc. all comp.					
	(i) Foundation & Plinth	107.14	sqm	103.10	per sqm	11046.57

(Signature of Contractor)

	(ii) Lintel	40.02	sqm	272.99	per sqm	10925.2
	(iii) Beam/ Column	187.73	sqm	728.91	per sqm	136836.
	(iv) Chajja/Slab	249.27	sqm	430.47		107302.5
7	Supplying, Fitting, Fixing and placing MS bars etc all comp.	72.01	qntl	7114.71	per qntl	512295.5
8	20 mm thick CP in CM(1:4) grading plaster with all leads and royality etc. complete.	223.24	sqm	223.13	per sqm	49811.8
9	12 mm thick c.p. in C.M. (1:6) over brick work etc. all comp.	175.03	sqm	139.60	per sqm	24434.2
10	16 mm thick c.p. in C.M. (1:6) over brick work etc. all comp.	592.32	sqm	198.20	per sqm	117396.42
11	Fixing Tiles in floor,treads ,steps & laying in 25 mm thick bed of cement mortar (1:1) jointed with neat slurrymixed with pigment to match the shade of the tiles including rubbing & polishing complete excluding cost of precast tiles.	202.32	sqm	636.36	per sqm	128750.26
12	Cost of vetrified Tile(Vitrified Tile 600mmx600mm Plain (Ivory))	202.32	sqm	523.62	per sqm	105940.89
13	Fixing Tiles in dados skirting& risers of steps on 12 mm thick cement plaster (1:3) jointed with neat slurrymixed with pigment to match the shade of the tiles including rubbing & polishing complete excluding cost of precast tiles.	285.48	sqm	714.67	per sqm	204020.54
14	Cost of ceramic tiles(30cm x 30cm / 40cm x 40cm special plain / printed series ceramic floor tiles of premium grade having thickness 7mm to 8mm confirming to IS 13755)	285.48	sqm	337.80	per sqm	96434.1
15	Providing fitting, fixing of Al. door with OEL anodized Al. Door section 9202 as vertical member, 9201 as top member and 9200 as buttom and middle member and 12mm thick pre-laminated board fixed on door frame by means of tapered clip No. 4660 and frame to be completed by means of jointing angle No. 1855 including all cost of labour, T&P, hire charges of drilling machine, labour charges etc. all complete.	20.94	sqm	6340.48	per sqm	132756.33
16	Supplying, fitting, fixing up window (sliding type) made up aluminium section 151-154, 151-155, as windows frame section no. 151-155, 151-153, 151-167 as shutter frame with 5mm thick black glass as panel fitted with rubber beading including locking arrangement including all fitting cost of materials all taxes labour, T&P etc. all complete as per direction of Engineer-in-charge	12.26	sqm	5784.41	per sqm	70940.04

17	Finishing wall Surface of walls with Acrylic wall putty (Water Based) of approved make and smooth and even surface to receive painting including cost of scaffolding staging charges with cost of all materials taxes labour, T&P etc complete.	758.28	sqm	209.82	per sqm	159102.05
18	Painting 2 Coats with Weather seald max (Delux)paint over acoat of Primer Including cost,conveynce of all materials,labour,T&Petc.comp.	758.28	sqm	139.01	per sqm	105406.95
19	Wall Painting 2 coats with Plastic emulsion paint of approved shade on new work to given an even shade including cost etc all complete	175.03	sqm	87.77	per sqm	15362.74
20	Cost of Enamel Paint	218.78	lit	179.32	per lit	39233.38
21	Sign Board for Writting					5000.00
22	Provision for wall painting					10000.00
23	Provision for mosquitonet					5000.00
24	Provision for Electrification					90000.00
25	Provision for Sanitary fittings with Pan, overhead Tank, Wah basin etc.					64000.00
26	Photograph					150.00
	Total				Rs.	3100028.44
				Say	Rs.	3100000.00
				(Rupe	es Thirty O	ne Lakhs) only

Should this tender be accepted, I/We hereby agree to abide by and fulfill all the terms and provisions of the said conditions of contract annexed hereto so far as applicable, or in default thereof to forfeit and pay to the Block Development Officer, Nandahandi Panchayat Samiti or his successors in office the sums of money mentioned in the said conditions.

conditions.								
		Sign	ature of co	ontra	ctor before su	bmission	of tender	
Witness -								
Address -								
Occupation -								
(Signature of witness to one to	ender's signature)	)						
THE ABOVE TENDER IS	ACCEPTED BY	ME ON	BEHALF	OF	PANCHAYAT	SAMITI,	NANDAHANDI	Dated:
////2021								
					Bl	ock Deve	opment Officer	

Block Development Officer Nandahandi

(Signature of Contractor)

## **CERTIFICATE OF NO RELATIONSHIP**

I/We hereby certified that I/we\* am/are\* related/not related(\*) to any officer of Panchayat Samiti, Nabarangpur of the rank of Assistant Engineer & above and any officer of the rank of Assistant / Under Secretary and above of the ST&SC development Department, Govt. of Odisha I/We\* am/are\* aware that, if the facts subsequently proved to be false, my/our\* contract will be rescinded with forfeiture of E.M.D. and security deposit and I/We\* shall be liable to make good the loss or damage resulting from such cancellation.

I/We also note that, non-submission of this certificate will render my/our tender liable for rejection.

(\*)- Strike out which is not applicable

(Signa	ature	of	the	Tend	derer
Date:					PRAGRAM

# INFORMATION REGARDING CURRENT LITIGATION, DEBARRING, EXPELLING OF TENDERER OR ABANDONMENT OF WORK BY THE TENDERER

1. (a) Is the tenderer currently involved in any

litigation relating to the works

: Yes / No

(b) If Yes give details

2. (a) Has the tenderer or any of its constituent Partners been debarred / expelled by any agency in India during the last 5 years

: Yes / No

3. (a) Has the tenderer or any of its constituent Partners failed to perform on any contract Work in India during the last 5 years

: Yes / No

(b)If Yes give details

Note:- If any information in this schedule is found to be incorrect or concealed, qualification application will summarily be rejected.

(Signature of Tenderer)

## **AFFIDAVIT**

- 1. The undersigned do hereby certify that all the statements made in the required attachments are true and correct.
- 3. The undersigned hereby authorized and request any bank, person, firm or corporation to furnish pertinent information as deemed necessary and as requested by the Department to verify this statement or regarding my competency and general reputation.
- 4. The undersigned understands and adheres that further qualifying information may be requested and agree to furnish any such information at the request of the Department.

(Signature of Tenderer)

Title of Officer: Name of Firm:

Date